Go to page 3 for the SOLUTIONS to the PRACTICE Assignment.
For questions 1-5, use the following transformations with each question:

Reflection across the x-axis
Reflection across the y-axis
Reflection across the y = x
Reflection across the y = -x

What is the image of A(1,-3)?
What is the image of C(-5, 2)?
What is the preimage of D'(-12,-7)7?
What is the image of B(a, b)?
What is the image of F(x + 2, y)?

The vertices of 2AABC are A(6,-3),B(—-3,-1) and C(5,2). Find the vertices of 2A’'B'C’, given the
translation rules below and describe what type of transformation occurred.
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6. (x,y)~(-X, y)

7. (x,y)=(-y, -X)

8. (x,y)=(, X)

9. (x,y)~(x -y)
Use the figure below to answer each question.

10. Reflect 4ABCacross the y-axis.

11. Reflectional symmetry is when a figure is reflected across a line and the image looks
identical to the preimage. Are there any more lines of symmetry associated with 4ABC?



Use the figure below to answer each question.

=2

w

i -9

W

D
A
C

»

el

&

A

[4)]

[=:]

12. Reflect vertex C across the line y = x.
13. Draw a line connecting C to C' and label the intersection of this line with y = x as point E.

14. A perpendicular bisector divides a segment into two equal parts and is perpendicular to
the segment. In this case, y = x can be described as the perpendicular bisector of segment CC'.
Verify that y = x will be the perpendicular bisector of segment BB' under the same reflection.
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For questions 1-5, use the following transformations with each question:
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Reflection across the x-axis g I\D < (,X['\'B

Reflection across the y-axis X( ) - ,)(‘ )
Reflection across the y = x [ 7 \I‘ X
Reflection across the y = -x b(l _\, -
What is the image of A(1,-3)? |

a. Reflection across the x-axis| A'(1. 3

All-3) > A‘[ 3)

b. Reflection across the y-axis|A'(-1, -3)
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d. Reflection across the y = -x\A'(3, -1)
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What is the image of C(-5, 2)?
a. Reflection across the xzaxjs|C’(-5, -2)
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d. Reflection across the y = -x|C’(-2, 5)

C(&)DCGs)

What is the preimage of D'(-12,=02

a. Reflection across the x-axigD(-12, 7
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b. Reflection across the y-axis| D(12, -7)
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c. Reflection
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4. What is the image of B(a, b)?

a. Reflection across the x-axis| B'(a, -b)
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b. Reflection across the y-axis

B'(-a,_b)
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c. Reflection across the y = x
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d. Reflection across the y = -x
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5. What is the image of F(x + 2,
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c. Reflection across the y = x
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d. Reflection across the y = -x
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The vertices of 2AABC are A(6,-3),B(-3,-1) and C(5,2). Find the vertices of 2A’'B’C’, given the
transformation rules below and describe what type of transformation occurred.

6. (x,y)—(-x,y) Reflection across the

y.- axis N6, -3), B'(3, -1), and C'(-5, 2) }

A(L-3) A (6r-3), B3 D) 2 B3, ((53)2 ' (5d)

7. (x,y)~(-y, -x) Reflection across y.=
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8. (x,y)~(y, x) Reflection across
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9. (x,y)~(X, -y) Reflection across the x - axis £’i6, 3), B’(-3, 1), and C'(5, ;)J
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Use the figure below to answer each question. ”'MS
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10.Reflect AABCacross the y-axis. The grapr'l will look the same with B mapping to C and
vice versa. A (ol o). 2 A'(0 \ 6)
B(-H,2)-Y B (Hr)
C(4,-2)2C (’44’3)
11. Reflectional symmetry is when a figure is reflected across a line and the image looks
identical to the preimage. Are there any more lines of symmetry associated with AABC?

This triangle has reflectional symmetry across the y-axis only.
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Use the figure below to answer each question. IWW%
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12. Reflect vertex C across the line y = x.
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13. Draw a line connecting C to C' and label the intersection of this line with y = x as point E.
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14. A perpendicular bisector divides a segment into two equal parts and is pergendicular to w
the segment. In this case, y = x can be described as the perpendicular bisector of segment CC'.

Verify that y = x will be the perpendicular bisector of segment BB' under the same reflection.

The same properties apply to BB’ oY w‘ bﬂf AA'\




